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Part 1: Building a Foundation

Which of the following words is spelled correctly?

undefined. A) Recieve
undefined. B) Receive v
undefined. C) Reciv
undefined. D) Receeve

The correct spelling is 'Receive'.

Select all the words that are spelled correctly.

undefined. A) Accommodate v
undefined. B) Acommodate
undefined. C) Accomodate
undefined. D) Accommodate v

The correct words are 'Accommodaie’.

Write the correct spelling of the word that means 'to make a choice or decision.’

The correct word is 'Decide’.

List two homophones for the word 'pair.’

1. First homophone
Pear

2. Second homophone
Pare
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The homophones are 'pear' and 'pare’.

What is the root word in ' un believable'?

undefined. A) Un
undefined. B) Believe v
undefined. C) Able
undefined. D) Belief

The root word is 'Believe'.

Part 2: Understanding and Application
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Which of the following words contain a silent letter?

undefined. A) Knight v/
undefined. B) Apple
undefined. C) Bread
undefined. D) Light

The word 'Knight' contains a silent letter.

Explain the difference in meaning between the homophones 'there' and 'their.'

'There' refers to a place, while 'their' indicates possession.

Identify the prefixes in the following words: 'disappear,' 'mis understand.'

1. First prefix
Dis

2. Second prefix
Mis

The prefixes are 'dis-' and 'mis-'.

Which sentence uses the word 'affect’ correctly?
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undefined. A) The weather will affect our plans. v’
undefined. B) The affect of the movie was strong.
undefined. C) She was affect by the news.

undefined. D) Affect she was happy.

The correct sentence is 'The weather will affect our plans.'

Choose the words that correctly demonstrate the 'i before e except after ¢’ rule.

undefined. A) Ceiling v’
undefined. B) Receive v
undefined. C) Believe v
undefined. D) Science

The correct words are 'Ceiling', 'Receive’, and 'Believe'.

Use the word 'transform' in a sentence that shows its meaning clearly.

An example sentence could be: 'The caterpillar will transform into a butterfly.'

Part 3: Analysis, Evaluation, and Creation

Which of the following words is a compound word?

undefined. A) Butterfly v/
undefined. B) Beautiful
undefined. C) Beneath
undefined. D) Betray

The compound word is 'Butterfly".

Identify the words that are antonyms of 'expand.'
undefined. A) Contract v
undefined. B) Increase

undefined. C) Shrink v/
undefined. D) Enlarge
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The antonyms are 'Contract' and 'Shrink'.

Analyze the word 'transportation’ by breaking it down into its prefix, root, and suffix.

The prefix is 'trans-', the root is 'port', and the suffix is '-ation'.

Which of the following sentences best uses the word 'innovation'?

undefined. A) The innovation of the wheel changed transportation. v’
undefined. B) Innovation is a type of fruit.

undefined. C) She innovation her homework.

undefined. D) Innovation was loud.

The best sentence is The innovation of the wheel changed transportation.'

Evaluate the following sentences and select those that correctly use the word 'perspective.'
undefined. A) From my perspective, the story was exciting. v’
undefined. B) Perspective is a kind of food.

undefined. C) Her perspective on the issue was insightful. v’
undefined. D) Perspective was raining outside.

The correct sentences are 'From my perspective, the story was exciting.' and 'Her perspective on the issue
was insightful.'

Create a short story using at least five of the following words: 'adventure,’ 'challenge,’ 'discover,’
'mystery,' 'solution,' ' explore.'

The story should incorporate elements of adventure and discovery.
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